EARAROBREBRT —5 XN—ZXBISH—F 2023512828 (£) SERR#1H

WS 23 REEF H ET] B5 BRI

[#E<] 1 7% :5,500,000 . 23 :2,200,000 3 . 33 :1,400,000 3 . 43 :830,000H 53 :550,000

BERE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS

1 4| WEvE 8 2 g?giﬁﬂ% 1:(34).2 3-3 34.1) 839 | 7 464 QEEE ﬁé%?)
Ri—5-YvT BIIATNFE—Ta 2 | ") #ea—kL—vavaesr

2 2| ¥avFySH—iL i) %:O?L\—D (11314/3 5-5 34.0|81.7 | 6 | 418 gﬁﬁ% ®ER)
RiVIVFYNYN BVIIFIRSAT | wrpgis

307l 8|5/ V7L * 2 | SHEX 1(:13/42.)5 55 |34.2]80.6 | 3 | 450 12%;&;3 ‘Ef)
RiSvE—FAN BiY3HUIOL—Y O 1 2535570

4177 XY T1vINA i 2 | HsL 1(/%;)5 33 [34.4]80.5| 4 | 452 gggi (E=)
REIHYTS YT BFOVIRAI— DR Frin AN

5|55 |He—IL 4 2 ?g*ﬁi (11314/47) 9-10  [33.9|78.4| 5 | 446 %‘%ﬁ t%;%
RIETPRAT BRILATY O D55 557 1

6l8lo | T%O7 4 2 %OL\JW'/\“I 1(:13/42.)8 1-1 35.0( 75.7 | 2 | 484 iﬂg =R
R:O0—KAFO7 B:IX/ YV © =Y T7—LI

7|80 ¥3T—F ® 2R e SR e R N T EEn LR
RiANTT—II B:FAUAYRIVT =Ig%iE

s 6| VoERD /Y FERZN T Lo 77 |M7| 729 8 | 40 A RR)
RN—EYIv— B:0-F4U7 #2 (B) H&I-—RU—y3vBEET 7

=~ 55— #o2 | I 1:35.2 7-7 347|729 | 1 | 482 |REEX ER

Y : K jj\.lj:\/?j 7°_ o 55.0 F9%) 4 |EFEAR—LFAVTR ()
RIN=YITSA B:I—XFIAH /=3I r—1L

10101 |7F1To59> 2 ;‘Jgﬂgi’\’ 1:(353.0 9-9  |35.4]63.5| 10 | 39 Eﬁ%zg &)
RiSVF—TAIN BIAYVILIUT | Fesvs

[ BN

Eh' 46.7-34.4

NOYSA L |12.3-11.0-11.8-12.4-12.3-11.8-11.0-11.6

@ I1—JF—BEBIEfI

13—7F—

20—7F—

30—F+— (x9,10) (4,7) (2,8) (6,3) (1,5)

40—+ — (x9,10) (4,7) (2,8) (6,3)1,5

o ILRE

B B 4 4,350 | [ 94 & 2-4 4,460 AR 2-4 20,020M 3R 2-4-8 59,940M

BB 4 1,910 4-8 2,610 F5 EE 2-4 18,4904 3EE 4-2-8 563,820/

2 1,690M 2-8 3,580 o= 4-2 58,550
8 9909

ABIC OV TRUTEREERRODDZE. THRIIZEL.




